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CHILD DEVELOPMENT AND PEDAGOGY

A student of class X scored 20%
marks in annual examination
which 15 less than his abilities. It
is an example for
(1) Both poor and low
achievement.

(2) Poor achievement.

(3) Low achievement.

(4) Under achievement. -
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(4)  ®%ys (Under) g,

Vygotsky's Socio-cultural” theory

suggests that a child's ‘most

important discoveries are guided by

(1) parents only

(2) other children. 7

(3) adults aeting as tutors.

(4) . neither other children nor
adults acting as tutors.
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3.

(4)

After teaching an initial lesson on
addition of fractions, a tedacher
engages students in their first
practice session. To help the
students to master addition of-
fractions, the teacher's'main role
during the first practice session
should be to

(1)

..........

reinforcesthe importance of
learning the skill.

check students'
understanding and provide
feedback.

challenge students to take
risks and attempt more
difficult problems.

facilitate student
collaboration and peer
review.
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"A child with good speaking skills
has very poor handwriting”. This
is suitable for explaining one of
the following concepts.

(1) Inter class differences.

(2) Inter - individual differences.
(3) Inter - personal differences.,
(4) Intra individual differences.
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In order to develop the social
development among the learners,
teachers should know the ...

(1) Personal interests of the
learners.

{2) Physical development of the
learners.

(8) Learnersiin all their aspects.

(4) Perfermance of the learners.
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Participation of the learner in the
enquiry based learning is ....

(1) active,

(2} passive.

(3) either passive or active.

(4) dependent.
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Non-verbal intelligence test can
be used for ......

(1) all irrespective of age.

(2) illiterates only.

(3) children only.

(4) literates and illiterates.
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The correct statement among the
following in relation to memory

......

(1) Recognition is exactly double
of recall.

Recall is greater than
recognition.

Recognition 1s greater than
recall.

Recall and Recognition are
equal.
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The Right of children to Free and
Compulsory Education Act, 2009
is applicable to the ....

(1) whole of India except the
State of Kerala.

(2) whole of India.

(3) whole of India except Union

Territories.

-whole of. India except the
State'of Jammu & Kashmir.
GU8, JGOH FOY Ty, AT 980 ~
2009 58D

(1) 358 oo Wdifosod
FOBERG DTS,

LPSHEFO =ee0d.

FoEFOS oo
000 PREBETo Doodros.
23500y - TR Doitason
PEBDFO DooTeS. ~

(4)

(2)
(3)

(4)

TET-211-EM/RM }

[5]

BOOKILET

10. A class room teacher 1s interested

11.

toe study "the influence of the
study habits of the children on
their achievement". In this study
"achievement of the children"is ....
(1) Dual variable

(2) Interference variable

(3) Independent variable

(4) Dependent variable
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An example of classical
conditioning is
(1) Dogs learn helplessness from
electric shocks.

Rat presses lever for delivery
of food.

Dog learns to salivate on
hearing bell.

Pigeon peeps at key for food
delivery. ,
PORTRONE Qeotirdd ST
(1) oo Brvibo ook HE e
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es3tt0 §%0 den¥ Does T e,

(2)

(3)

(4)

......

(2)

(3) X%, Kot Ar65 rornerd,
BRoBee DEREe. 3
(4) FHss0 w@dtte e 5§50

@ 9 5553502;55 ?ée.}:ea.

PT.0.



12. A student of class VI.is not able to

13.

TET-211-EM/BM )

decide between continuing or
leaving the studies because the play
and friends at school are attractive
but teachers are not. The type of
conflict the student is facing is .....
(1) Acceptance - Rejection

(2) Approach - Approach

(3) Approach - Avoidance

(4) Avoidance - Avoidance

sl BONS  BEoHBON Do
FETOED wews, SparBowy essGeare
GOyes, adrprgiioey  e¥domr
DEFDe VoD DEaEs FRPAoREIT
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A student of -class VIIL "got
habituated to study only to gain
reward. This is an example for ...
(1) Operant conditioning theory.
(2) S-R conditioning theory.

(8) R-S conditioning theory.

(4) BothS-R& R-S condltlomng

theories.
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14. The period of development during

15.

" Curriculum -

which the child is in the dilemma
of being a child or an adult. ......

(1) Adulthood

(2) Late childhead

(3) Adolescence

(4) Early childhood

Do ST o SABPESce $D

SOEHTT wh BoBl] gees“ &od 9%

(1) Sz &9

- (2) a8l wre &%

(3) T 5%

the National
Framework-2005,
teaching is for .....
(1) Making child achieve above
its abilities.
(2) Construction of knowledge
(3) Preparing the students for
- examination.
(4) Providing the right
knowledge to the students.

According to
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16.

17.

Self-paced learning is possible in ...
(1) Activity based learning

(2) Programmed instruction
(3)° Whole class teaching

(4) Teaching in small groups

| Hyoio Disand egidotion 826°

PRI BB,
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(3) oo BUKD SO
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Aptitude of a child in
Mathematics and its general
intelligence are very high, but its
level of aspiration with regard to
achievement is low.

The possibility of achievement in®
Mathematics of the child iin"|

relation to his abilities will be.......
(1) Unpredictable

(2) Low

(3) High

(4) Average
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18. When teaching children from non-

English speaking families, it is

correct to assume that .....

(1) Linguistically different
children are educationally
delayed.

(2) Children will give up their
previous language/culture in
order to adopt that of the
new. '

(3) Proficiency in_one language
can help in learning a
second, so language skills
will improve if children are
encouraged to be bilingual.

(4). Nothing is lost when the

- child's language and culture
are not reinforced at school
because they will be
maintained at home.

e30RBS FPRR0 DILPT Kowoowre ook

55 Loo¥d S QoBospte  gee

PRCHES HTHO.

(1) 20T gral oo Slapilolehyy
DoBRG SoLTSS.

(2) 5% PO eswiren DRSS
00 200 BIYEnds R
HOD DIW.

(3) a5 gmag™ Ddesd To& R
S S0ed’ &BERTHEBos, \

Seeeg boos® ATCALRISEY
Poimointio Dy P PYEFD
BOHBEON,

(4) 2&8° ?oge: PRE Jo,)B3
DeGpPo wobows Fawd $e
B0, DOXOEIT @D 3ol B
FhoBesoron.

PT.O.



19. Before taking up teaching there is

a need to take up ..........

(1) Assessment for learning.

(2) Continuous and
comprehensive evaluation.

(3) Assessment of learning.

(4) Assessment of interest.
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20, When we say a child's thinking is
less abstract than an adult's, we
‘mean that .....

(1) Adult$ base their

"~ understanding of the world
more on particular examples
and tangible sensations.

(2) Children use more examples
and generalizations.

(3) Children use more
principles, but require fewer
generalizations.
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(4) Children use fewer
generalizations, categories
and principles.
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One of the following statements is
true with regard to the memory
and learning.

(1)

" Learning 1s depéﬁdent only

on Memaory.
(2) Memory is hereditary and

learning is related to

environment.

(3) Memory and Jearning are

interrelated.

Each of it can happen in the
“absence of the other.

(4)

Sy )8 00010 iR Dowodow
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BogD00.
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-----

Cause of learning disability

(1) Lack of knowledge among
teachers and  teacher
educators.

(2) Organic and environmental

factors.

e

[91]
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(3) Poor teaching and teaching
aids. |

(4)
LN PEODS S0

Low mental ability.

Ss5008° arsdan.
(2)  esoRE o803 éa‘éweosvés‘-w.
(3)

(4)
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One.of the following is essential
for ‘learning. skills under the
psycho-motor domain :

(1)
(2)
(3)
(4)

Practice
Creativity
Reward

High level of intellectual |
capacity.

JEE BUS SokoS® Brageaui
320B8 Bind VO THeBHB.
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- 24. A student of class I who is

25.

ez o)
A

punished by a teacher, develops
fear towards all teachers. This is
an example of ........

(1) Social learning theory

(2) Conditioning theory

(3) Gestalt theory

(4) Cognitive theory
SEPEROIND ol asewn BOKD
R wodlo
FooBwHe DorodoWaisowrd. 80

B2 TS s

SIEROIDY B

(1) ool el Lopodo
(2) QeosT %agoéo !
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v ] )
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This type of environment is
suitable for emotional~

* development of children-...........

(1) Indifferent

(2) Dominant™

(3) Accommodative

(4) Permissive

Do &3 ISHoR HoFoRoENE
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Q) Broand
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A

BOOKLET @

26. Positive attitude among the High

27,

[10]

School students towards learning

......

(1) can be inculcated uniformly.
(2) can be inculcated.

(3) cannot be inculcated as they
are already grown up.

(4) is constant.

&8 FETe IPhes” et B

(1) DEES™ eSS0, \
(2) " eataRe.

(8) ewnsdow - JotoSod T
538 DOATEL K30,

(4) ‘?gtic:.v?’f° &oenol.

According to Piaget, “object
permanence” takes place during
the period of ... '

(1)  Formal operational.

(2) Sensory motor.

(3) Pre-operational.

(4) Concrete operational.
DATE [H500, 9y B & Fob
&S58° mtoroBood.

(1) e[y pHores
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28. Traditional way of teaching | 30. One of the following is innate :
grammar was opposed by ...... (1)

Motivation
(1) Thorndike (9) Interest
(@) Paviov (3) Aptitude
kj .
(8) Skinner (4) Attitude
(4) Chomsky
_ Bod TOE° nEed BB
Foaran BEHE TESn SN ‘
55880089 TE> one . | (1) (%
(1) 68 (2)  whoed
(2) P56 | (3)  Ssmes Fsg o
@) b (4) Pl

29. One of the following is not the
- main purpose of teaching :

(1) Creating awareness among
students. '

(2) Construction of knowledge:.
(3). Understanding the learner.

(4) Making the children
understand various .
concepts.
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LANGUAGE I - TELUGU
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Part - I11
Language II - English

61-65. Read the following passage | 61. ‘The Nightingales were an
carefully and answer the aristocratic family.’

questions given below it. _
It means that Nightingale’s

Florence Nightingale was parents were .....
born in Florence, Italy, in 1820

(and hence her first name). The (1) eXtraVagant_

Nightingales were an aristocratic (2) poor
family. Her father, William '
Nightingale, was a very wealthy (3) “arregant
_>~landlord. Her mother, Fanny X
. (4) noble

Nightingale, loved elegant dresses
and parties.

Florence was different. Not L g2 To work in hospitals, Florence

for her parties and silks and laces. Nightingale got the blessings from
Not for her life of wealth and'ease.

That was a useless life ! At 17 she

announced that she had received a | (1) the patients

call. “M‘FO me an(‘:‘l called (2) her father/

me to his service’’; she said. Her

parents were puzzled: (3) her mother
This turned to dismay when (4) the volunteers

she said that the ‘service’ was to
nurse.the sick, as working as a
nurse was considered lowly in | 63. ‘That was a useless life.’
those days. Her mother was
heartbroken, but she got her
fathe_x:’/s, blessings and Florence (1) the nurses.
began working in hospitals.
Florence provided the best service

That life was useless for ......

(2) the Nightingales.

to her patients. Her work got (3) the citizens of Italy.
noticed and the beautiful lady led :
a band of women volunteers to (4) Florence Nightingale/

Crimeiir_l’@ﬂ.

TET-211-EM/TM 3 (18]




64.

65.

66.

TET-211-E

God asked Nightingalé to serve

........

aristocratic families.

(1)

(2) Him through prdyers.

(3) the sicka

(4) her parents.

Florence Nightingale’s mother
was heartbroken because
Nightingale .....

(1) was fond of her parties, silks -

and laces.
(2)
(3)
(4)

decided to work as a nurse.|
rejected her father’s advice.

chose to lead aristocratic life.

‘Helen is the most beautiful
woman in the world’.

The comparative form of the given
sentence is ......

(1) Helen is more beautiful than
many other women in the

world.

(2) Helen is more beautiful than
v most other women in the
world.

Helen is more beautiful than
very few women in the
world. '

(3)

Helen is more Beautiful than
any other woman in the
world.

@)

[19]

67.

68.

69.

BOOKLET @

‘Devi looked at the moon.’

The phrase ‘look at’ means ........

J1)  to see
(2) to examine
(3) toinvestigate

(4) to take care of |

‘This is aninteresting story’. To
get the opposite of the word

‘interesting’, we use the prefix

reranana,

(1. un’
(2) dis
(3) in
(4) ill

‘Raju plays cricket. He plays chess
also.” The given sentences can be
combined and expressed as .......

(1) Raju doesn’t play either

cricket or chess.

(2) Raju plays cricket but not
~ chess.
(3) Raju plays chess but not
cricket. |
(4) Raju plays not only cricket
— .

but also chess.

PT.O.



70.

71.

72.

73.

Find the correct sentence that

contains the words ‘birds,

distances, fly, long, migrating.’

(1) Migrating birds fly distances
long.

(2) Birds fly long migrating
distances.

(3) Migrating birds fly long
distances.

(4) Birds fly migrating long
distances.

Identify the correctly spelt word.
(1) champyen . O:a.\)
(2) champian~ &w‘7\\

(3) champien C\f"

(4) champion

“I should be here ........ the stroke
of five,” Venu said.

Choose the correct preposition, to
fill in the given blank.

(1) by

(2) in

(3) at

(4) on

‘My father ...... {drink) tea

everyday’. Choose the correct
form of the verb given in the
brackets to fill in the given blank.

(1) is drinking

(2) drink
(3) drinks /
(4) drank

sk e

R
. £ .o i AJ‘
M

" [20]

74.

75.

76.

77.

BOOKLET @

‘Madhavi is very hospitable’. It
means that Madhavi is ...

(1) bedridden.
(2) in a hospital.
(3) friendly. —
(4) fearful. -

‘T am very lucky, ..... 2

Select the appropriate” question
tag to be used in the given blank.

(1) amn’tl

(2) arentd -

(3) «aml

(4y asn’t it

‘My sister has ........... (paint) the

wall.” Choose the correct form of
the verb given in the brackets to
fill in the given blank.

(1) painting
(2) paint

(3) paints

(4) painted y,

‘Dolphins look like fish, ...... they
are not fish.’

Choose the correct word to fill in
the given blank.

(1) but ¢
(2) and
(3) or

(4) then



78.

79.

80.

(4)

‘T.alitha used to take a slate to

school’. It means that ...

1) Lalitha has been taking a
slate to school.

(2) Lalitha doesn’t take a slate
to school mow.

(3) Lalitha takes a slate to
school.

Lalitha is taking a slate to
school.

(4)

In writing a letter, an appropriate
way of writing subscription is ......

(1) yours sincerely,
(2) Yours sincerely,
(3) Yours Sincerely,

(4) yours Sincerely,

Sheela said,
Russian language.”

The reported form of the given
sentence is .......5.

(1) Sheela-said that she learnt
Rusgian language. -

Sheela said that she was
learning Russian language.

(3) Sheela said that she is
learning Russian language.

Sheela said that she has been
learning Russian language. »

(2)

“I am- learning

[21]

81-84.

81.

82.

83.

BOOKLET

In the following passage
there are blanks which have been
numbered from 81-84.

Below the passage against
these numbers, a choice of four
words / phrases marked 1, 2, 3, 4
is given, one of which fits the
blank appropriately."Choose the
correct answers.

‘Birds _(81) different - shaped
feet to suit their way of life. Birds
that perch _(82) branches have
toes that/curl Tound the branch to
give'a tight grip. The grip is so
tight that the bird _(83) fall of,
even when it goes to sleep. Some
birds find their food in the
ground. Their short, blue toes are
like rakes. They scratch the
ground to turn up insects and
seeds. Birds such as ducks, geese
and swans have feet like paddles
to help them _(84) in the water’
(1) are

(2) has

(3) had

(4) have
(1) on \

(2) in

(3) under '
(4) above
(1} hasn’t
(2) didn’t ~
(3) doesn’t
(4) Thaven't

PT.O.



84.

85.

86.

87.

 TET-211-E

"~ (2) English is .a

(1) swum
(2) swim—

 (3)  swims

(4) swam

In an Overhead projector , a
teacher makes use of .........

(1) 3D objects.

(2) Transparencies.~

(3) Power-point CDs.

(4) Puppets.

“India is a multilingual country.

English continued as a language

of administration, judiciary and

medium of instruction in the

universities.”

This aspect implies that ..........

(1) English is a link language in
- India.

language.
(3) English is a language of
opportunity. '
(4) English is an International
language: ' =

Change of stress from the first
syllable“to .the second as in,
‘conduré-con’duct, changes the

(1) from AdJectwe to Noun.
(2) from Verb to Noun.

(3) from Noun to Verb.

(4) from Noun to AdJectlve \

library

[22]

88.

89.

90.
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Searching for specific information’
in a dictionary, a telephone
directory is an example for ......

(1) Extensive reading_,
(2) -Scanning

(3) Skimming

(4) Reading aloud

The teacher makes use of prefixes
and suffixes to teach ......

(1) Word meaning.
(2) Sentence formation.
(3) Word formation.. ®

(4) Sentence meaning.

‘The teacher gives the meanings
of difficult words in the pupil’s
mother tongue.’

This is a principle involved in ......
(1) The Reading Method of
Dr. West.

(2) The G'rammar-translétion
Method.

(3) The Direct Method.
(4) The Bilingual Method.
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PART - IV(a)
MATHEMATICS & SCIENCE

91. If J5=2236, then the value of
100 . '
NI

----------

J5 =2.236 290 e
_'7 e:aooa:émm

(1) 6.482 -
(2) 1.2 642 W% \
. %
(3) 8.944 Ll
(4) 10.534 G

92. Acar tra%relled 4 km. less than twice

the distance travelled by abus in' 1 |

hour. If the car travelled 28 km. in
1 hour, the distance travelled by the
businkm.is..........

¥ Howd® widyy PArRos SroRs
Bedowdy 5 4 $.200 855, 5750 2.8
ROYFE3oN0d. e T w Nows'
28 3.0, (Foirelolnd ety (eirelols

EFSe i, 08° v, |
NL_,—'/

(1) 17

(3) 15 |

(4) 18 v

TET:211-EM/FME .|

[23]

93.

94,

In the following, the set of points
that lie on X-axis is .......... |

800 #E° X- o pife DolivHe HLS

cccccccccc

{(=1,0), 2, 0}

(1) _

(/% N
(2) {(1.105:(2,3)} ¥ s
(3) "{1,1), (-3, 2)} »

(4) (0, -1, (0, 2)} ]

If x +y =25, xy =12, then the value
of x3 + y3 is

----------

x+y =5 xy =12 @

x° +y3 DRI seearenns
N
(1) -56 oleay) 2
-
(3) 42 Yoo
: Le) £ e
L
4) 72| S
' WS
-
7
7
PT.O.



95.

96.

TET-211-EM/EMVE - |

The number that should be
multiplied with (-4)™% to get a
product of 1007 is

(-4)7 %0 B roedS 93 o
10071 esoo0ls es ROPg werersanes

25

(1)

4
(2) —5“/

> e

(3)

4
(4) 95

The G.C.D. of two numbers is 21

and the first 3 quotients obtained
" in the division are 1, 4, 5. The

numbers are ..........

Bots Bogge. G.C.D. 21. grsivsns’
57 DI K0T PPIPEB HEIDHT
1,4, 5 wowd e SIS U
) 6239)7684 L' ,\wt\
/
(2) 441)346 (1 L“
/g 3\«‘*\
(3). 1632, 1088 7
(4)

1728, 1632

BOOKLET @

97. The value of

98.

[24]

If 4x-~1—=6, then 16:(:2+i

[{17~(5—6—;?>)}+1]—6 is ..
[17-(5-8-8)}+1]-6 2ews ...
(1) 8/ 13‘/ {J“("?Cl“\m\)
(2) 12 o -5 L€

(3 16 e

(4) " 24

2x o 4x?
iS......
v 1

4dx— — =6 ecwd 16x“+—1

2x 4x2
e 'Uo-*\/ :

.......... B
(1) 60
(2) 20
3 30 /
(4) 40



99. There is a square with side 150 m.
There is a rectangle whose
perimeter is equal to the perimeter
of this square. If its length is 180m.
then the ratio of their areasis .....

150 do. Zomo So HEotRe &od. A
oty SToBK VHFIRN Wy Sobie
By wEotite &ob. o Ry 180 .
@O0 T DFTQ AP eneeenes

(1) 7:9 :
@) 12:13 S Y
3) 25:24 \Qi y
(4) 3:8 G "
100. In a Pie diagram, degree of any
‘ component partis..........
(1) Mx(}ompohent value.
360°
@ Total value x 360°
Component value :
(3) Component value « TotalValie.
| 360° > Bl
Component value % 360°

(4 " Total value
58 Bar VBHWS' B DeoBBo

B deD 80500 tarreeen
| Eﬁx@c; SV
. (1) 3600 X e00%0 el
S0EBEN0 D % 760°
2) IO WOIW 3
. 2I0BO LW ,
(3) 3600 < 20080 Jool
QICTO VD % 360° /
@ 2580 Deos
TET-211-EM/TV | | (25]
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101, If A = 2¢% + 3x% - 2x- 1 |

B = 4x° - 6x% - dx + 8,
C=3x"-2%-3x+ 3, then 50
A-B+Cis...... ‘

- Lo
3
‘d_-,,*}-\-“\‘:iq

A=23+3%-2x-1,
B = 4x® -6x% 4x +.8

a T A T e
C = 3x% — 2¢% — 3x +78. ecws,
A-B + C desdun.- : L
o e

(1) 22296 o
3 4282
FL’_ L

(2) 2®-7a%+ 9% + 6 BN A

A3 B+ TP+ 9x -6

4Y x°-7x*-9x + 6

102. Four carrom board strikers, each of

radius 7 cm. are so arranged that
each striker touches at least two
other strikers. The area of the
empty space between the strikers is
(insq.cm.)..........

T 200,20, TGPFR0 BOAD ool TR,
&% GsBoo B 2.5 K0 Bodowl
BHATE® by T Boggie 0 Po
I WD) oD, e

PR T T RLL

—«(1) 35
{2) 42
(3) 21 &
4) 105

P.T.O.



103.

104.

In a class there are 96 girls. Due to
rain 12 of them did not attend the
school. The percentage of girls
attended is

2.5 SNBSE° 96 oot erdiSen Koo, B0
BB 12 %008 POSes FETOL T

9000w PO T8elo THBROY .o
p
WS
g 7’2
@) 85.7 /\,\ P
(3) 815/ /;\5«1 w0
| NI
(4) 785 N\ X
o3 X b
b
N
Mahasamudramu is a number in

which 1 is followed by these many
number of zeros.

0SS0 Wit Dend® 1 BLroTs
D92y T RO “awseveere

(1) 521

(2)+ 58
(3) 56

(4) 54

TET-211-EM/TM-

(26]

106.
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----------

27

20
19

(2) 55

845

(3) 1000

21

(4) 200

Certain amount of money is
divided between Anil and Sunil in

4 3 |
the ratio 2— : 3— | If Sunil gets

7 4
Rs. 187 more, then Anil’s share in
Rupees is ...

S0 FHope wdd Bodaie Bden

9=
7
o, 187 255 H, b Sy, Ter

ErSroSes®

3
37 i BS° BotFem HdsK

.......... .
(1) 408 ”:‘% NS
(2) 595 N
(3) 346 !
(4) 625
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: 2
107. The sum of two fractionsis 4—.

3

1 ‘
If one of them is 35 , then the

other fractionis......

2
Tots PTme WodHw 4-3:. w0l &.¥

iy 3% 0235 2057 DRYF0 vvsenen

W 4 A
@ 22 Y e
(3) 3'2‘ %\
1 \ 7
A9 15 (0 oo

108. Three angles of a 7 sided polygon

are 132° each and the remaining
four angles are equal. Thevalue of
each equal angle in degreesis .....

7 Fordoowd Mo RIPFPE Il 3
Semen 2.5% 9,83 132°, Qorie 4 Sestoes

| R, et o°0 &57 %, Sese Desh

Sfed® T 7
-131,"# 3
(1) | 142 \//&
2) 160 9
(3) 126
(4) 1357
.eifl : ‘5 :t

[27]

109.

110.
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A student secured 122 marks in a
test but his score is 13 marks less

~ than the pass mark.

If the minimum pass
percentage is 36%, the maximum
marks of the testare .....

5 Jog0d w¥ WEES 122 ity

DT, I Fs eatioeais Tdetns 36%

B0y 13 S0ty BIPoad., ©00B e W0

.......... L
A D

(1) 475 3%

(2)%375 Y i
T T

(3)_270

(4) 175

From a circular sheet of paper a
strip of 7 cm. wide is removed all
along its border. If the area of this
strip is 2310 sq.cms., the percentage
of the area of ‘the stnp removed
approximately i is ..

2.5 YEPIRE TRG0 ood 7 Ro.do. Dsey
Ko 5L 70 wown Jowd ¥§0o8.
SABo DOF T 2310 B. Do.d.
o 580N wI¥ ITog THB®
SR

(1) 16.25

(2) 206.56
(3) 14.88 /

(4) 23.44

P.T.O.
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111. The area of an equilateral triangle | 113. The lateral surface area of a cuboid

is 1444/3 sq. cms. The height of whose length, breadth and height

the triangle is are 6 m, 5 m and 3 m respectively is

(1) 66sq.m.
2.5 BowmTw |Bdhe PT0EIN 144+/3 1
5. D00, 0D e BIORRD &Y ... (2) 166 sq. m.
(1) 12v3 (3) 1660 sq. m.
(2) 25\{5 (4) 990sq. m.
(3) 643 28 B posBoar FER, Dey, Jsgen
@) 1643, DS 6 ., 5 2., 3 . oD T
| C.’aﬁb B '@_%’_‘QJSZ}.D ..........
112. The perpendicular drawn from any - (1) 66 ©. 2.
one of the vertices of a triangle to.
its opposite sideis .......... : _ A2) 166 . .
(1) Centroid (3) 1660 . 2.
(2) Median : (4) 990 . .
(3) Altitude ‘
(4) Chord | 114. Factors for (8x6 - 93;3 + 1) are ..........

@20z Boped® DD Wi wood o
ASoed oerdd Acowds womno &
(@gore QY)Y e '

(89&_:6 ~9x3 + 1) B0, SUEFOTLY ...

(1) (%x+1) (4x2-2x+1)

\p
(1) Kotiogs o A (2) (-1) (PHx+1) (2x-1) (dx?+2x+1)

. /;,‘\-
(2)  LoFgrgsw. (8) (x4+x+1) (4x?+2x+1)

3) o 4) (x+1) xP+x+1) Cx+1) (4x?+2x+1)

TET-211-EM/TM" [28]
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116.
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In the given numbers,
Ramanujan's number is ........

e 305 5ol Voped® orartond

(3)

(4)

‘Learning by doing' is the concept
of the following .....

(1 Labofatory mgthod

(2) Demoﬁstréttion method._
(3)
4)

Analytical method

Lecture method

Bakooe PO DERTT0e W PR
E23 Sowodesd.

(1) BT B58 \
(2)  PBEY 558
(3) gner D88

(4)  edavgd e

117. "Characteristic of

118.

[29]
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n

simplicity
relates to the following ...

(1)
(2)
(3)
(4)
(RES BB’ B oFEIan Saifodd
PR3 Howoownh.

Moral value
Practical value
Cultural value

Disciplinary value

(1) 6E Deod)

(2) + BETEEE Dasd

(B)1, Fod, YO Deod

(4)  (ES0FEPHE Deod

The evaluation card which

assesses the standard of the text
bhook is ...

(1) Sampson's score card

(2) Hunter's score card

(3) Anderson's score card

(4) Peterson's score card

JUs  (NofBy @Bk,  (BRrerd

(FPeadin) @oumr WOk BoFTReED

(1)
(2)
(3)
(4)

Foney F & 5
oy H0 36 7
€30858,y A6 =6
2oy 8 8

PT.O.



119. The objective that comes under

120,

®

TET.m.EM@

cognitive domain is .....

(1) Imitation

(2) Application

(8) - Organisation

(4) Manipulation

FTGEE CoflIDE Dowckod

OF g

(1) esdosSernss
(2) OB~
(3)
(4)

One of the following is not the
characteristic of gifted children....
(1) Have broad attention.

(2) Frequently asks profound
questions.

Learning centres argund the
text books.

Prefers to think on higher
levels of abstraction.

(3)

(4)

85 1300 T8 TES HOeTRonBI
Boe o S, |
D) @
(2)

Spo wRgro SOR Gowrdy.
BB eé&m@ﬁ@p (5%,00
DI,

YR PERTTOR
2oB500hnd dotaod.

& Pow BRTY L& BN
@z:oégés@cs:.

(4)
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121. The constant temperature at

122,

[30]

(3)

which a liquid substance gets
converted into gaseous state is
called ......

(1) freezing point.

(2) lower fixed point.

(3) boiling point .

{4) melting point.

O RO STFIG DY 2.8 S Borgo o
289 PoroBool w &S e o
Q%) ..

(1) SoPSD T,

(2}, wir b oo,

ATt :3;2\’3;’).::.#

@) DS B0,

Raju could hear the echo of his
clap from a hill in front of him
after 3 seconds of his clapping.
The distance between him and the
hill, assuming the velocity of
sound in air to be 320 m/sec is.....
(1) 480m

(2) 960 m

(3) 320m

(4 3m

ores 2.8 §TolE0 QOO Dot Wy
B0D 3 S0 BOUS @ VPGS
B s, TOSY 650 Ko 320

‘JDJCQS S0 ...

(1) 480 . -

(2) 960 .\ Y A

(3) 320 % o[
: <
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123. Consider 3 magnets - A, B, C are | 124. The molecular formula for
one of the poles of each of the Ammonium Phosphate is ......
magnets. A, B get attracted and .

A, C get repelled. Then the WRFROI0 TS ens PR .
following statement is true .......
(1) - A, C are like and B, C are
like. (2) NH3(POy,
(2) A, B are unlike and B, C alfel (3) (NHp;PO,
unlike.
(3) A, B are unlike and B, C are (4) NHPO;
like. ~
(4) A, B are like and B, C are '
- unlike. 125. The apparatus used to transfer a
‘ ¢ RO fixed .yolume of liquid from the
@c source accurately to another
, container is ........
BaT DY echamosred PR, |
A, B, C oo T9G00%), 2895, Smrew. (1) Pipette
A, B e 5050 5005050000, (2)  Measuring jar
A, Ceo DEQOTOEITHO0. TP (8) Measuring flask
Bod TS’ B TG (4) Burette
(1) A, C oo ded Hames Sodaks o P DORrHSN No (BHSe
B, C oo Send gysren. pODore ¥ FB Beod Y PSS
(2) A’ B e Jerd ié}a.bm <58 é?éodea& i DOKTRG L.
B, C oo D8 Gyarew. (1) S0 ¢
(3) A, B e 22 Hmres Hodaie '(2) Somd
B, C e Qa8 Symeen.
: (3) Sy
(4) A, B oo 50 oo 50000
_ B, Cow od e, ! (4)  wr@ey
{31] BT.O.



126. In a Bramah press other things

remaining constant if the cross-
section of large piston is doubled,
then the thrust on it .....

(1) is raised by 4'ti:-mes.
(2). will remain the same.
(3) Is halved.

(4) is doubled. |

EPEPROS BED eoftwol) Huom
Sty DY BadeEnn  BoP-Dd
ST00 TP 5020 S E] SADCSe0

(1) =reor depBood.

@) s,
(3) wmssBo0d.

(4) Do wpBood. |

TET-211-EMF!

127.'m' gms of

128.

[32]

BOOKLET @

Carbon  reacts
completely with 'n' gms of Oxygen
to produce Carbon dioxide. The
mass of Oxygen required to react
with 'm' gms of Carbon completely
and produce Carbon-monoxide is..
o gms

m gms

7 gms

m

(4) o gms

'm (PR30 EGIRNs 'n' (b
s3yeBE Wrem BETed TOe &
3 yChed0 WP, wowd  'm!
0250 BEOR0E Yrom $8;Tod

(1)

(2)
(3)

SIS BITF B0 D Ewoese
IENIRT CREL R o ez S

no _ Rt
(1) o ooen) e
(2) m (ke ™Y
(8) 7 [eRdwen

m
4) o (R

The gas liberated on heating Zinc
Carbonate is ........

208 oo :%&,So:sam Dot
(1) e
(2)
(3)
(4)
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129. The first artificial satellite | 131. The shape of the body which is

launched by India is ...... always in stable equilibrium,
(1) Bhaskara irrespective of the position it is
(2) APPLE B placed, is ......
(3) Arya Bhatta E ;; gube
RN one

(4) Rohini (3) Cylinder
PEBLEC HATACDD FO KB \ (4) Sphere
e D DM Dodsnnd Sghyts LY
1) g | .
PR DB’ dot B RN, eSO ...
(2) APPLE | |
(3) eatsiies 1 . 7 (1) B[wPote
CHR . | : (2) Bopod

, ' _ (3) o

130. The emblem of a T.V. channel is (4) “F%o

displayed at the left hand top
corner of the screen. When Raju is

132. Electrochemical effect is used in ...
seeing the image of the TV in a R vt

mirror the emblem appears at ... 1) Telegraph
(1) left hand bottom corner. "~ (2) - Electric motors
(2) right hand top corner. . (3) Electric stove

(3) left hand top corner- .

(4) right hand b.ottom.co-rner.

25 e3.0. & Kty L dEw D8

D Sored POGomE. T wX egeds® | 5F
e 3.D.0 SRSty B8 e K (1) BOwS- \

3D §Z-)§:>o§5~zge>o ........ : H

(4) Purification of metals
DEASTY0H (5575 DIDPIRBLHL

2.8 &ONTSeY ........

(2) D5 Beto
(1) &S0 DO ($od are
(2) %3 38D Barot _

| - (4) &manses 200 Dakoe
(3) esH0 I p ware | -

(4) 23& 3 20d v

TET-211-E [33] - PTO.




133.

3

One of the following is not the
correct pair .....
(1) Chlorophyll - Conversion of

energy.
(2) Chromoplast - Colourless.
Young tomatoes - Leucoplast.

(4) Green chilli - Chloroplast.

| E $olmE’ e OGS b T,

134.

TET-211-E

(1
(2)
(3)
(4)

§6%8 - 48 wroyd

Fardfy - wg irsho o
B8 whmer - erE oD o\
50, Sovesctes - ST -

A plant has bisexual flowers. You
want to cross pollinate those
flowers. You have to .....

(1)

remove both Androecium

and Gynoecium.
(2) remove Calyx.
3).

(4)

remove Corolla.

remove either Gynoecium or
Androecium.

25 Do, OO0l HRyeso FORABIRA.

T3S° DTN BOBLB0 20HOVENS

@ocsgf'm& wobosae é‘éo‘b@b
- Selord.
(2)
(3)
(4)

SEY J@RHO FoloTd. -
ea§§§ JSHOY SoloTrd.

wotsET) 55 THTRO
SN,

135.

(D

BOOKLET @

Alternation of generation is seen
in the life history of .......

Frog
(2)
(3) Chlamydomonas

(4) Mosquito

AseBs Sor A £y VOES’
BREHEY.

(1) 5%

(2) »oR

Selaginella

@) sERreh

136.

4 S,

The evidences of extinct animals
left on earth that are useful in

. 'Evolution of life' are .........

[34]

(1) Bones
(2)
(3)
(4)

25 HOLPHIDI SHABINE BPNS
NSendd Adodd #He eniore

Foot prints
Fossils

Fuels



137.

138.

Medicine for dog bite was
discovered by .......

(1)
(2)
3)
4)

Edward Jenner
Louis Pasteur
Robert Koch

Alexander Fleming

o, SR FWOEY FROATID T ...

(1)
2)
(3)
(4)

Qé‘sg a:@as "t
TP 3‘%35 - "?/

owb §%5;,r/"/-W _ |
eﬁaﬁscﬁg ool Q‘/

Suppose a student of 8th class
complains that he has ear-ache;
fever and pain in opening mouth.
As a biology teacher, you 1dent1fy
the disease as ........

(1) Pertusis

- . {(2) Rubella

| 'I‘ET-211_-EM@

(2)

(3) Mumps

(4) - Malaria

AINEH BOAD DG a8 BHKH
DOy, B0, Fro BHOL Shcore
&S50 BOLITEBS L, d5TY
éb°q5°565»3m ) HOB0DD TR enee
(1) Soos oy

Beay/arold

3
(4)

Ko i)éoem
Ptlaleve i

139.

140.

(@)

- (4)

[35]

(3) Plant, Explant, Callus,

BOOKLET @

Identify the right food chain.
(1) Calotes —» Eagle — Snake.
(2) Carnivores — Herbivores

— Plants.
(3) Plants —» Insects — Calotes.
(4) Plants <> Goat <> Tiger.

2OCIN ey Rrendods Hodod. |

(1) Sl — (1§ > Fox N

(2) BroFSioes - TERHitey
- — W08),e0

(3) Bwses S duwes > Fois |

(4) Do & ¥ o DY

The “order of stages in tissue

culture is .........

(1) Explant, Ca]lus Plant
" New Plant.
(2) Callus, Plant New Plant,
Explant.

New Plant.
New Plant, Plant, Callus,
Explant.

Sesero DONGIeE T DG Ko B
(1) By o, seb, 305,

E8 208, -
505, 3y, §° 28,

25y Jots
(8) a0k, 5, o, T,

578 ok,
§°8 o, DYy, SO,

o?ga 5:«5

(4)

PT.O.



141.

142,

In the balanced diet pyramid, as
we go up from the base, the fourth
place is occupied by ...

(1)
@)
)
@)

Vitamins
Proteins |
Fibre
Minerals

Sodoug &TsS DUk Hoss wrrtyrte
2ol 8 PSP TYS P

-------

 pde eNered

The human dental formula is ...

RSO SE8 BRER ...

111, 2/2, 3/3, 2/2

(L)
(2)
(3)
(4)

2/2, 11, 2/2,3/3 /
2/2, 212, 3/3, 3/3
1/1, 3/3, 2/2, 2/2.

PR

143.

144.

[36]

()

BOOKLET @

A scilentist has selected single
celled organisms that can live
even in acidic medium like HCI for
his experiment. They belong to
the Kingdom ........

(1} Animalia

(2) Plantae

(3) Monera

(4) Protista

2.8 TS 5% $OF 06 5% HCl e
@R WIS Erar JdbenidA
DEEr SPHons 55BN, wd S
SRS EERIAUNIR

DRI

o

TP

@5"5@2 !

(2)
(3)
(4)

Most of the disease spreading
animals without notochord belong
to phylum ......

(1) Arthropoda

(2) Protozoa

(8) Nematyhelminthes

(4) Mammalia

Syasedto Do Wod  @lg
ToGURo T TR odoipor O
Ea DTS Deedrom.

(1) et

(2) SE

(3)  Qurede®pds

(4) wodo@oir



145

146.

TET:21 1EN@
5 1

This provides quantitative as well
as qualitative description of the
outcomes of teaching-learning
process.

(1) Testing

(2} Measurement

(3)
(4)
SETHED NS 50 Korres

So00%0 BOSTerEE PdEte Dbt

Evaluation
Examination

gdoh

(1) 50 dgde

(2)  BoEss

(3) W@‘so%m /

(4) 50¥

In Bloom's Taxono‘my of
Educational  Objectives, (the

specification 'Translation' belongs
to the objective .......

(1) Application

(2) Analysis

(8) Synthesis

(4) Comprebension

2353 Dmpy 0F Swe BB

“WRTEO! B aETEE S
OF FONIH Sowohowta. |

(1) DB
(2) Jgaes

(3) NoZdes

(4) esdresrd /

BOOKLET @

147. The information that need not be

148.

@

given in a laboratory instruction
card IS .......

(1) who has to do the
experiment.

‘the purpose of the
equipment.

(3) the method to be adopted
(4) precautions to be observed.
BRTRFTe DPO DRk
DOLEINBB0 DADOT TN weeer
(1) 58 HBa3wna DeLodds, |

BOETN (B

(2)

(8). " SERTIR0e Dot BYS.

(4) eRoRB0cuReNR eP(ligen.

In Edger Dale's cone of
experiences, the learning

experiences are arranged in the
order of (taking the start point
from the base of the cone) .....
(1) decreasing abstractness.
(2) increasing abstractness.
(3} increasing expenditure.
(4) - increasing concreteness,

Cd@E TE Sl Foardegmed’,

[37]

LYRTBFTeY 1 BESD  (EBo0s
TGN,

(1) @3S B0

(2)
(3)
(4)

WRPEH TPEnSY
BRerEtY Esftﬁ.beﬁv
BPGE IPanGe.

PT.O.
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149, The method of teaching that | 150. An ancient, convenient and

makes the students to look at
knowledge as a whole is .......

(1) Project method
(2)° Lecture method
(3)I Demonstration method

(4) Discussion method

eTIRL 8y BT PR DoFoBCD

(2)  &argd 959 1

() oS e

(4) voy 858

inexpensive method of teaching
that is suitable for teaching
almost all the subjects of school
curriculum is ......

(1) Lecture method

(2) Demonstration method

(3) Source method

(4) Story-telling method

FET 5oN oS’ TN ) Bk
S8, BRS  HOBRIISD,
ETRRD B’:;o&o:ixs PENBY S
958 ..

(1) &hars BES

(2) o $5d

o (3) SR™see a’:cg@-

(4)  Soosss ':ac;g@'

[38]
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